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1) Differentiate using the chain rule.
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2) Determine f'(1).
a) f(x) = (4x% — x + 1)? b)f(x)=3\,—2%
F’(’M] = Y Yya? —%ﬂ)(?ﬂz' t)

0= o(oe ) - 'g(ix—klj% (2-2)(5).
) E 2 T
£ = 2[yin -1+|)[?(|)~|]

oy = W) [x-2)*]"
= = )
) el Fy - "5 (2-34)
i) = 56 3622 (A7)

Flaa)= -502-2%)
3 (2 -22) "3 NGEN,

Flay = -5 [a-2a))
3(20)-(?) "3

3) Determine an equation for the tangent to the curve y = (x3 — 4x2)3 atx = 3
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4) Determine the point(s) on the curve y = x2(x® — x)? where the tangent line is horizontal.
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a) f(x) = (x + 4)*(x = 3)° b)y = (55)
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Answers:
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